Zl1IE

30

FyTL—IL(AL)

NOT10030
by TL—ILRIF(AL.

37.5

NOTUS9712
PBFAAYEL S E X (SUS)

I0LLF
P=kx P=kk

kk

P=

=koksk

M4 x 20
JL—/A—ER{F#(AL)

SL2323
AT )L—iv—(AL)

SL65100C

2R L(SUS)

M4 x 8
XHE(AL)

S5545
FAEFHTRM(AL)

Sokokok
P75~80 X *x

skokokk
F12H

P=kk

kk

P=

P=skk

%

[0—50 % 30 x 2.3t
FSRH2YE 4L 3FE(SUS)

M4 x12

LARJLERERILE
M5 X 15 M5 S
FSRINR T (SUS)
M4 x 8

A=whERBLERL
%5 M(D6)/Mal (SUS)

W=1200LLF

W=1200LLF

W=1200LLF

100~270

= 90T

kekk

skkksk

kkkk

FEH

P75~80 X *x*

FAE4HTRA (ZAMOO)

by TL—IL(AL)

[0—50 % 30 x 2.3t
FHE(AL)
S5545 /W

M6y T F v AL)

FNARILMSUS)/M6 X 20
FAEFHTRA (ZAMIO)

0—50 % 30 x 2.3t
FHE(AL)

S5545

JFH)VSL

)k

BXEHIS V(AL
K72EWHA
IURX vy (HHR)
NOT10030ECP2
LR 7 H—(SUS)

M4 x13(ETDH)
HEJK IR

®55x%30
LARJVERAZERILE

| %ok
|

801/1‘_]: 50~70 100
\

M5 x 15-M58 Sk

SGA-M8.”M8 % 35

JL—\—E{F#(AL)

EEEIZIVEELIS)

SL2323

ELnhe Y JL—nN—a( B

2.0mm

ALY —h7A—(BlB) o Lotk

47 o (]

a2 hh/R—(AL) I~5;</l\??~~‘)(sus)/
SL65100K M4 x 8
rSRAyE 1L 3FE(SUS)
M4 X 12
2 JL—/N— L5Fi%

9425 IL—1N—(AL)
SL65100C
JL—/\—EU{F#F(AL)
SL2323

JL—/N\— L5tiE

IW—N—IURFvyT(EEE)

SL65100ECP-R(L)

20

W=1200LLF

W=1200LLF

W=1200LLF

100~270

AR XREVFIIKEREREICIVERYFET,

FHEFEE

KEXFISTIMMIA T arTY,

TI%4

DD

/
/
/
/
/
/

B
EELIEET]

& TILESFE HmsEaxE
9425 TS54KL—)L./SL-WB-NOT10030-F

& Bty 52

B
aX A

fER B X #

By

F® |RTIER

fE R

(A3)=1/8.1/25

#5E B :2006.12.07 HEH: 2010.6.22

DOPPOPOPDOOD

E-033



